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O29 sotel 2sXe 20,000,000 x 1Al 20,000
Ogs=23t 0tg=2 M 70,000,000 = 1A! 70,000
stelE SRS XS 16,500 16,500 0
307 212t0| & 16,500 16,500 0
02 QIZHE AAIE 2 X 3,500 3,500 0
Oty 38k g2t 3,500,000 x13] 3,500
04 DIZ2LSHALALSE B = 13,000 13,000 0
ogta=oH 5,000,000& *13| 5,000
O0ls8g3 s2xXEN 2,000,000& x13| 2,000
OAEIE 35 &2AXEH 2,000,000& *13| 2,000
OH=283 HIIZ2AH 2,000,000 *13] 2,000
OS2 2,000,000 13| 2,000
A 23 500,000 500,000 0
307 giztol A 500,000 500,000 0
04 CIZ2tSHALALS B = 500,000 500,000 0
O EZ3HA 500,000,000& *13] 500,000
gherd ot 2 5Kl 90,000 80,000 10,000
307 QI2t0| ™ 90,000 80,000 10,000
04 CIZ2tSHALALS B X 90,000 80,000 10,000
Ot AAZ A 90,000,000 13| 90,000
S0l = Ml 40,000 40,000 0
307 2I2t0| & 40,000 40,000 0
04 SIZ2HSHAAISH E & 40,000 40,000 0
ostdo=AH 40,000,000 *13] 40,000
HES3 HS oA 235,000 68,000 167,000
201 LBt ]| 132,000 0 132,000
01 AP 22| H| 132,000 0 132,000
OHMd A D] HZ 10,000 x2008 2,000
OSFE X &2t 100,000,000 100,000
OFQUEHHUAH(F2IHOH) 30,000
— SEHX HEANY 30,000,000 = 14! 30,000
307 2Iz2t0| & 103,000 68,000 35,000
02 QI AAIHE E X 58,000 43,000 15,000
OsH st XN 33,000
— 2AISE 50,000& x40A| 2 *110H S S 22,000
—JIXM 2L = 1,000,000 110 SH 11,000
Obl=ls B3 43t 5,000,000& 5,000
Osd0E Os0l3 NH 5,000,000& 5,000
O8tsz 28 =24 15,000,000 15,000
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04 SIZ2ISHAAIH E & 45,000 25,000 20,000
OZEUYEE HAHELE) 4,000,000 13| 4,000
OZEUWEE AL H) 3,000,000 *13] 3,000
OXFEUEES HAHIIEH)
2,000,000 *QIHH *13] 18,000
OstASACIAIHS (HES) 20,000,000& *13] 20,000
F=DHE N Y A= 22 45 561 47 174 AN1,613
101 2121 H] 8,061 7,674 387
04 JI2tHIZ22NEE 8,061 7,674 387
OE2FAF 22 73,2803 1 x110 8,061
307 2I2t0| ™ 27,500 29,500 A 2,000
04 CIZ2tSHALALS B X 27,500 27,500 0
Ouz=24d=x ME 4,000,000& *13] 4,000
O9dF== HE 2,500,000 13| 2,500
OEAEMY ==2Z F2H 7,000,000& *13] 7,000
OMNIZAY =268 F=2H 7,000,000 13| 7,000
Os=9Y &s=2H 5,000,000& *13] 5,000
OXA HE 1,000, 000& *23] 2,000
401 AlEHIZL 2 0HY| 10,000 10,000 0
01 Al&EH| 10,000 10,000 0
O AL SR (ME, M| S)
10,000,000 10,000
RES S 37,000 20,000 17,000
307 2iz2tol & 37,000 20,000 17,000
04 QIZ2tSHAFALS B X 37,000 20,000 17,000
OYHAME =J HE & HSHAHA
20,000,000 13| 20,000
OYHAME =D NE 5,000,000 x13| 5,000
OJIEtA & 2,000,000 *6IH 2 12,000
30 % REs X 42,500 42,500 0
307 S12t0| & 42,500 42,500 0
04 SIZ2HSHAAISH E & 42,500 42,500 0
OKHUNME23AIH (SN JIZ2H) 7,500
— &haksk ) 4,000,000& *13] 4,000
— otolsF ) 3,500,000 *13] 3,500
O&tn E=48FH 2,000,000 201 A~ 23] 8,000
OB RES TEHIENE 27,000
— AT 18,000,000 13| 18,000
— OO R T 3§ 9,000,000 *13] 9,000
Bosn NSZ20Y 29 15,000 30,000 £15,000
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307 212t01 & 15,000 30,000 A 15,000
02 DIZtZAAMEE X 15,000 30,000 A 15,000
Oogadsun Mo 29 15,000, 000& 15,000
AARU 2 28,000 28,000 0
201 et A | 20,000 20,000 0
01 AFR22t2ld] 20,000 20,000 0
O&JIIa8H S&J|1J] g S
1,000,000& *x203] 20,000
301 et X = 8,000 8,000 0
09 HALAHIXI &= 8,000 8,000 0
OsdX 242 400,000 *203] 8,000
Cuna 2435 67,800 67,800 0
201 LEt2AY| 52,800 52,800 0
01 AFR2t2l bl 52,800 52,800 0
O8% Sdua 28 Z2AxxE
4,800,000 *11l&H 52,800
307 QI2t0| ™ 15,000 15,000 0
04 QI2SHALAIE E = 15,000 15,000 0
Okcfud ZAHUZ 15,000,000& 15,000
dE 00 A=2HAEEY 15,000 15,000 0
307 QI2t0| M 15,000 15,000 0
04 QI2tSHALAIE E &= 15,000 15,000 0
OdE0elol A=2HAEYEY 15,000,000& *13] 15,000
Xelar 2sHH 30,000 30,000 0
307 212t01 & 30,000 30,000 0
04 QIZHSHAFAIRHE 2 X 30,000 30,000 0
ORXlela S28HHl 30,000,000& =13 30,000
H=2AT ZEUF 30,000 30,000 0
307 212t01 & 30,000 30,000 0
04 QIZHSHAFAIE 2 X 30,000 30,000 0
ONZAX HEUS 30,000,000& *13] 30,000
CESARCEHAER XS 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0
04 QI2SHALAIE E &= 30,000 30,000 0
OHFIIAZ=3|(23]) 30,000,000& 30,000
KA SA QI AL K& 12,000 12,000 0
= 8,400
= 3,600
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307 2Iz2to| & 12,000 12,000 0
2 8.400
= 3,600
04 SIZ2ISHAAIHE E & 12,000 12,000 0
O24ExZAY 12,000
— SHALAIS DI A 2,000,000 *13] 2,000
= 1,400
= 600
— SHAFZR L EILISE E AR 4,000,000 «13] 4,000
2 2,800
= 1,200
— 23 28 AN 3,000,000 *13] 3,000
= 2,100
= 900
— HHEE 2@ 24N 3,000,000 x13| 3,000
2 2,100
= 900
NS &N S A 60,000 72,500 A 12,500
= 24,000
& 6,000
= 30,000
307 gizto| A 60,000 72,500 A 12,500
2 24,000
& 6,000
= 30,000
02 QI2tAAMAIE E =X 60,000 72,500 A 12,500
OZHIBEXZANY 60,000
— &l DEUHNA Mol &dl23 M E
60,000,000 60,000
= 24,000
= 6,000
= 30,000
NENESHNEZ ALY 150,000 155,000 A5,000
2 60,000
o 15,000
= 75,000
307 212t0| ™ 150,000 155,000 A5,000
= 60,000
o= 15,000
= 75,000
02 DIZHBAAIE E X 150,000 155,000 A5,000
OZHIEZAY 150,000
— NEEJHESAIY 150,000, 000& 150,000
= 60,000
= 15,000
= 75,000
SS230I2HAY 255,200 228,000 27,200
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EUNLY

50,000
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000

307 21201 A
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50,000
20,000
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50,
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04 QIZHHALALS B £
&

TN JISAY 50,000,000&
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— &N 22 (Egna 29)
6,800,000 *2JH & 13,600
& 4,080
= 9,520
—SNNE SSHSAY 6,740,000 204 & 13,480
L3 4,044
= 9,436
A S A} 30,000 30,000 0
307 QI2t0| & 30,000 30,000 0
04 CIZ2tSHAPALS B X 30,000 30,000 0
OBMHY Y ASSHAL 30,000,000 x13] 30,000
SHEHE SA} 30,000 30,000 0
307 QI2t0| ™ 30,000 30,000 0
04 CIZ2tSHALALS B X 30,000 30,000 0
OHEHE AL 30,000,000 13| 30,000
HAHOUAA H2XZH AIAIS 40,000 0 40,000
401 Al HIZL 201 Y| 40,000 0 40,000
01 Al&H| 40,000 0 40,000
OHIAA H2XY EXAY
40,000,000 =14l 40,000
Aoz 29 30,000 30,000 0
o 30,000
307 212t0| & 30,000 30,000 0]
o=} 30,000
04 SIZ2ISHAAISH E X 30,000 30,000 0
OZHIEXZAY 30,000
—dEzolflsd 29 30,000,000& 13| 30,000
o= 30,000
(Hetol=2 SSMOHYAEZ HAEY XA 50,000 50,000 0
= 10,000
= 40,000
307 QI2t0| ™ 50,000 50,000 0
& 10,000
- 40,000
04 CIZ2tSHALALS B X 50,000 50,000 0
OZHIEXZAY 50,000
— &t =2 StMOHAER HAEHY
50,000,000 50,000
&< 10,000
= 40,000
S0 =0|etxE A 14,820 14,820 0
Mel=0] HMEZE &9 14,820 14,820 0
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M 20z ds 2435
& 2ot d (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 14,820 14,820 0
01 At 22l 5,000 5,000 0
Odeis0l MEd |X 2= 500,000&«10& 5,000
02 2324l 9,820 9,820 0
Odei=0l MEd dIlg s 9,820
—&J|g,8423,H0=2= 8,500,000& 8,500
— &t a2 110,000& =128 1,320
R BEFH| 2,462,763 2,463,125 A 362
= 516,309
< 483,292
s 1,463,162
Z3 M ¥ 8SAHE E+FH] 1,533,630 2,132,024 A 598,394
= 516,309
= 462,892
s 554,429
SNNE2S M & SESSMESFHI(A2S 100,000 0 100,000
= 70,000
< 15,000
[ia 15,000
401 AIEHI L 20 100,000 0 100,000
= 70,000
< 15,000
s 15,000
01 A& HI 99,108 0 99,108
O=HIEXZ AL 99,108
—AIZ2AE B3 A 99, 108,000& 99,108
= 70,000
< 15,000
[ia 14,108
03 Al 2 0HHI 892 0 892
O=HIEXZ AL 892
—A28d B3 A 99,100,000 x0.9% 892
NS 23 L SESAMESTH (SFA OIS 50,000 0 50,000
4y =)
= 35,000
< 7,500
s 7,500
401 A& HI K 201 I 50,000 0 50,000
= 35,000
< 7,500
[ia 7,500
01 A& HI 50,000 0 50,000
OZHIEx= At 50,000
— SN 0IE2E 3= 252 28 &2
g9 50,000,000& 50,000
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401 AIEBIZ S CHYI 5,000 0 5,000
3,500
750
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HH W

01 Al& I 5,000 0 5,000
SETIEEINE 5,000

— SUANT ABME BEH2 SNHEY
5,000,000 5,000

3,500
750
750

M H

SINNE2SM ¥ SE2SMESFH(FE27S) 10,000 11,000 A 1,000
7,000
1,500
1,500

MW

401 AIEHIZ 2 I 10,000 11,000 A 1,000
7,000
1,500
1,500

MW

01 Al& I 10,000 11,000 A 1,000
O2HILEAY 10,000
- =82 PH(AS)2S, X
10,000,000 *14! 10,000
7,000
1,500
1,500

EURL Y

9,000 9,000 0
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6,300
1,350
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Mo A

401 AIEHIZ 2 I 9,000 9,000 0

6,300
1,350
1,350

HH A

01 Al& I 9,000 9,000 0
O=HI2 XAt 9,000

- 232 2YLR(AE) 24,
9,000,000%! * 12! 9,000

6,300
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1,500
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Mo

401 AIE Bl S CHYI 10,000 10,000 0
7,000
1,500
1,500

A

01 A& HI 10,000 10,000 0
O=HIExX A 10,000
2 LEUR(AE) B, XE
10,000,000 * 14! 10,000

7,000
1,500
1,500

Mo R

EXNEEZa 2 525,000 610,000 A85,000

262,500
262,500

EUNE

401 AIEHIZ 2 I 525,000 410,000 115,000

262,500
262,500
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01 A& HI
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g 23R4 2MFH|
Sl 25 X MSME 24T CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— SN S UM 2=
59,622,000 » 14! 59,622
= 30,000
s 29,622
—HEHEA SN FAX FLL= A
198,740,000& 14 198,740
< 100,000
s 98,740
— gy B=E 99,370,000 =14l 99,370
< 50,000
[ia 49,370
— M2 SXOHOIEtOI Aty =2 FHI
23,849,000 » 14! 23,849
< 12,000
s 11,849
03 A& =2 THHI 3,307 2,952 355
OEHIEZAY 3,307
—EXE=2a el 3,307,000& 3,307
HSAE ZTHALAE SXNES 70,000 66,800 3,200
= 35,000
< 10,500
[ia 24,500
401 Al HIZ 201 8] 70,000 66,800 3,200
= 35,000
< 10,500
[ 24,500
01 A& HI 70,000 66,800 3,200
O=HIEZ ALY 70,000
—EFM 2 7L EHAIAE SXES
70,000,000& =14 70,000
= 35,000
< 10,500
s 24,500
==t 2MHAIE RX22 X 30,000 30,000 0
= 21,000
< 2,700
s 6,300
401 AIEHI L 2CHEI 30,000 30,000 0
= 21,000
< 2,700
[ia 6,300
01 A& Bl 30,000 30,000 0
OZHIEx= A 30,000
—HAHNE 2 20 30,000,000& =14 30,000
= 21,000
< 2,700
s 6,300
HSMNE BEEFEI(XEY) 400,000 760,000 A.360,000
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200,000
100,000
100,000

Mo

402 2I2tXt=01 & 400,000 760,000 /360,000
200,000

100,000
100,000

A

02 QA 2AMLEE (01X THE) 400,000 760,000 A 360,000
O=HIE= ALY 400,000

—HEA QMTH(SE2H IS

400,000,000& * 14! 400,000

200,000

100,000
100,000

HH A

S M HHEIAE 2= 70,000 0 70,000
49,000
6,300
14,700

HH A

401 Al HIL 2T b 70,000 0 70,000
49,000
6,300
14,700

U AT

01 A& HI 70,000 0 70,000
O=HIEXAE 70,000
L2ZAE EX
50,000,000& =14l 50,000

35,000
4,500
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HHEE 22X FIHE S$SAY 1,300,000 0 1,300,000
401 A& HIZ 201 I 1,300,000 0 1,300,000
01 A& HI 1,300,000 0 1,300,000
ONGEE 22X =XE SSAMY BHAEX O
2 1,300,000, 000& 14 1,300,000
Xelsh 2UZ@ =T A (HEAY) 300,000 0 300,000
< 195,000
s 105,000
401 A& HIZ 201 bI 300,000 0 300,000
< 195,000
s 105,000
01 A& HI 297,855 0 297,855
OZSHEAY 297,855
—Xeldh ZAZE F=XE A (EE)
150,000, 000& 150,000
< 150,000
—Xeld T3 FHE FHIALS (XgHl)
147,855,000 147,855
< 45,000
[ia 102,855
03 Al S HHI 2,145 0 2,145
OaEMEAS 2,145




EX: S22
o BIEINY
CHel: 2AZXE O (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—Xelat a2 =XHE HUIAFS (X8HH])
297,855,000 *0.72% 2,145
CTENSHEES HI2E2 ZHAAY(HEAIY) 500,000 0 500,000
= 325,000
= 175,000
401 AlEHIZ 201 Y| 500,000 0 500,000
= 325,000
= 175,000
01 Al&H| 496,425 0 496,425
ORENEAY 496,425
~CENS-MOS HIYYR TLANY(HS
) 250,000,000& 250,000
= 250,000
—CEOS-HEES HI2E2 ALY (XS
Hl) 246,425,000 246,425
< 75,000
= 171,425
03 AlE £ 0HH] 3,575 0 3,575
OZENEALS 3,575
—CEOSHEES HIIEHZ ALY (XS
) 496,425,000& *x0.72% 3,575
AN 2P A 70,128 65,697 4,431
Jl23dHl 70,128 65,697 4,431
Jl2 &4l 70,128 65,697 4,431
201 et | 37,728 35,697 2,031
01 AP 22| H| 37,728 35,697 2,031
OFRANEH 1,831,000 x16H 29,296
O=3&H| 3,200
— EZ20H4H| 8,000 x16Y x25! 3,200
OZAII Y Xt 5,232
— Z A S A 286,000 x1CH*x12& 3,432
— S E A 150,000& »1CH*x12& 1,800
202 04| 28,800 27,000 1,800
01 2Ll 28,800 27,000 1,800
O2tU o4 vl 100,000 «16¥ x12& 19,200
O22 4 H] 75,000 x 16 x8L 9,600
203 SR F & 3,600 3,000 600
04 EASHEYRFAH| 3,600 3,000 600
OBNM2g9I2=&Y| 300,000 x12& 3,600




